
 Final Exam Practice Sheet #4 Answers 

1 3 ≤ −2𝑥 + 1 ≤ 7   
[−3, −1] 

 
 

2 |3𝑥 − 2| − 3 = 5  10

3
 , −2 

 
 
 

3 |1 − 3𝑥| > 5  
(−∞, −

4

3
)  ∪ (2, ∞) 

 
 
 

4 𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛:  (2, −5)𝑎𝑛𝑑 (−3,4)   

√106 
 
 

5 5𝑦 − 3 = 4𝑥; 𝑓𝑖𝑛𝑑 𝑠𝑙𝑜𝑝𝑒 𝑎𝑛𝑑 𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡   

𝑚 =
4

5
; (0,

3

5
) 

 
 

6 𝑆𝑜𝑙𝑣𝑒: 
3

𝑥−2
−

4

𝑥+1
=

5

𝑥2−𝑥−2
   

6 
 
 
 
 

7 Find the equation of the line thru:  (−2,3)𝑎𝑛𝑑 (−4,7)  
𝑦 = −2𝑥 − 1 

 
 
 

8 Equation of the vertical line through (8,9)  
𝑥 = 8 

 

9 Equation of the line perpendicular to line 𝑦 = −2𝑥 + 3 and 
through (−10,1). 

 

𝑦 =
1

2
𝑥 + 6 

 
 

10 Find center and radius:  𝑥2 + 𝑦2 − 6𝑥 + 10𝑦 − 2 = 0 (3, −5); 𝑟 = 6 
 

 


